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1 Energy efficiency and skaters

A skater is at rest at the top of a ramp and skates down reaching a low point at the ground
level. In all cases the initial potential energy of the skater is 4000J.

a) The skater uses a more efficient skateboard and reaches the low point with a kinetic
energy of 3000J. Determine the thermal energy at the bottom of the ramp. Determine
the efficiency of the process.

b) The skater uses a more efficient skateboard and reaches the low point with a kinetic
energy of 1000J. Determine the thermal energy at the bottom of the ramp. Determine
the efficiency of the process. '
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